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JLPT N4 Kanji Quiz — 34/34 Answer
1 doANET BXFET YT &TH HHIOATT,

(1) ERFE 1 B’ TAWVZ 2 B Thh 3 BXTAhVnzx 4 B TAM
(2) Bl 1 72085 2 LAH®ED 3 VXHLA 4 BLwED
(3) BHAWN 1 HDHN 2 MBHN 3 D 4 HHN
12 BRo 5EJ5T ZARLDE E-oTCWELE,

(1) BR 1 A5 2 z&E 3 Fb 4 95

(2) ek IR AP S x 2 NIt 3 IFVWTA 4 9V Th
(3) 7o 1 7o T 2 FoT 3 9-5C 4 H-o7T
M3 Lobrido ZWVhEL T ZxhAid—uay Nl LevosbriLELT,

(1) Lebxd 1 fE R 2 R 3 R 4 FLE

(2) 72w\ 1 KH 2 KA 3 R 4 ARF]

(3) Erhi 1 B4 2 FH 3 EAE 4 FAE
4 Zo LoLAE BFE 2—31I2b 0 TEH WINTT N,

(1) LeLA 1 BE 2 fhE 3 BE 4 $HE

2 b7 IR E]] 2 i E| 3 Hi[ 4 Hir

(3) 7T 1 &< 2 ELHT 3 BT 4 fitYT
M5 SAEISELIT BB NIENT LTALSE b7V T HAHIINT LTWET,

(1)
(2)
(3)

IEDSEL 1 E R e
CTALS 1 H g H
»H5H< 1 #A<

2 EMA R 3 HEBAR R
2 BAEE 3 HEsH
2 &< 3 <

4 JEE)A R
4 HEHE
4 j£<



